[DD0O00]

- 93 -

gboobooboooboboooboobooobooboobogobooboigo

googano

O

ugoodgo boo
oo d

gogod

g 0

(0ol

gbogbgoooobooboobo

ggogoodgogggogodoobobooobobooboooobooobonboo

gooogao
goooboobuoobooooobao
gbooobooboooboooobod
gboobodboobooooboa
goooboobuoobooooobao
gon
gboooboobogno
gbooobooboooboooobod
oooobond
gbooobooboooboooobod
goboooooboooooooobd
goooboobuoobooooobao
gbooobooboooboooobod
goooooobon
gboobodobooboooobog
gooobooboobobod
gboobobooobooboboboo
goboooogoboooooooobd
gboooboon
go
gboobooboooboonb
gbooobooboooboooobod
gooobooboobooooobo
gbooobooboooboooobod
goboooogoboooooooobd

O 0O 0o d
O O 0o d
O 0O 0o od
O 0O 0o d

O 0o 0o d
O o o d
O 0o 0o d
O o o d

O o o o

O o o d

I I I Y

O o o d

gogboboooobogoboboagnn
gobooobogoobooobogbogoobo
U

gogboboooobogoboboagnn

gobooobogoobooobogbogoobo

gobooobogoobooobogbogoobo
ogooooobogooooboobooonog
gboobooboobouobond
goooooooogobogbogoobao

gbogogooobooboboobobo

gbogogooobooboboobobo

goooooooogobogbogoobao
gbooobodoboboobooboa
goooooooogobogbogoobao
googno



[D000O0000]

0O-0000000D00o0O00o0oo0o0

goooooan

ooQono ooooooon
OO0 OooOoDo
ooo°©® 13 6
ooo®” 8
ooo°©® 8

ODo2.5m 00
"O0O01.50 2.5m
DDo1.5m

0

-
ooon =——

0ol ==
— oo
ooog =s———°

oogo

<= 00

U0

[ 00

U0

(0O

94 -

gooooooooooobbbobobooooood
goooo
oooooooao

oo

95 1

) :
0

585’ I 0
O

g 8 -

mm

75

ooomooo good

-0 ocoobobbobobbobobobooboooooooooooobobbbboobooao

oooooooooo®“ooo

"OoooooOoO@MmDOOoDoOoMm’00D00D0O0ON0DoOooDoao

ooooooooooao

04 1
03 1 -I_
02 1 I
01 1
0
ooomooo gooo

-0 oooooooooboboooo0o0oo00a0d

oooooooan

gad o0 oooooao
00 O O oooo=+S.D.
ooooooob 0 16 0 27.63x 1.02
gooooooao 1 9 1 15.60+ 1.55
ooooooooon 7 4 1 14.00+ 0.00

[DO0O0O0O0]
D00DO000o0O0o0od0

46:0 -6



